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Khalifman
Belikov

Podolsk 1992
[Husemann,D]
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Weiß am Zuge.
 1.h6!  gxh6  2.Kf3  h5  3.Kg3  c5

 [ 3...Kg7  4.Kh3  Kh6  5.Kh4  c5
 6.Kg3  Kg7  7.Kh3  Kh6  8.Kh4  Kg7
 9.Kxh5 ]

 4.Kh4  e4  5.Kg3

Asgaruzadeh,A
Lalith,B

Abu Dhabi 2014
[Husemann,D]

(Diagramm)

Soll Weiß am Zuge mit  1.Tf2
den Übergang ins Bauernendspiel
anbieten?

 Txf2  2.Kxf2  a4!  3.Ke3  Kd6  4.g3
 Kc6  5.c4  Kd6  6.c5+

 [ 6.Kf4  dxc4  7.Kxe4  Ke6  8.d5+  Kd6
 9.Kd4  b5-+ ]

 6...Kc6  7.Kd2  Kb5  8.Kc3  e3  9.Kd3
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 e2  10.Kxe2  Kc4  11.Ke3  Kb3
0-1

Dourerassou,J
Buhmann,R

Frankreich 2014
[Husemann,D]
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Weiß am Zuge.
 1.b7?

 [ 1.Tdd7  Tce1  2.Txf7+  Kg6
 3.Tg7+= ]
 [ 1.Ke2  Tc3  2.Kf2  Tcc1= ]
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 [ 1.Td5  Tce1  2.Txg5+  Kh6  3.g3
 Tgf1+  4.Kg2  Kxg5  5.gxf4+  Kxf4
 6.Txf7+  Ke5  7.c6  Tg1+= ]

 1...Tce1  2.Txf7+  Kxf7  3.Td7+  Kg6
 4.Td6+  Kh5  5.g4+  fxg3#

 [ 5...Kh4?  6.Th6# ]

Eisenbeisser
Bastian

Frankreich 2009
[Husemann,D]
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Schwarz am Zuge.
 1...a5  2.b3

 [ 2.a3?  a4 ]
 [ 2.d4  cxd4  3.Kxd4  g4  4.Ke3  Kg5
 5.c5  Kxh5-+ ]

 2...g4  3.Kf4  g3  4.Kxg3  Kg5  5.a3
 Kxh5  6.d4  cxd4  7.Kf4  Kg6

 [ 7...d3  8.Ke3  Kg4  9.b4  axb4
 10.axb4  h5  11.c5  h4  12.b5  Kf5
 13.c6  bxc6  14.b6  d2  15.Kxd2  h3
 16.b7  h2  17.b8D  h1D= ]

 8.Ke4  h5  9.Kxd4  Kf5  10.b4  axb4
 11.axb4  h4  12.Ke3  Ke5-+
0-1


